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(e)  (i)  Service departments cannot recover costs because no production takes place in 
these departments.  Service departments are secondary to production 
departments and as a result, service department costs must be transferred to 
production departments on an equitable basis e.g. machine hours.  Overheads 
can only be recovered through production i.e. they are included as a cost of 
production. 

(ii)  Allocation is where overhead costs can be specifically identified and charged to a 
particular department or cost centre.  These overheads are allocated to that 
department.  

Apportionment is where overheads cannot be specifically identified but are 
shared or divided between departments using an appropriate basis of 
apportionment.  

Absorption is the method by which costs are charged to cost units/units of 
products in order to be recovered.  An overhead absorption rate for each 
department can be calculated using a suitable basis such as rate per unit, per 
labour hour and per machine hour. 
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